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1. One of the following is International 1. Fr=icifad § @ o SFUSig SR

trade : T
(A) Trade between countries (A) 39 P T FNR
(B)  Trade between regions (B) & & d9 MUK
(C)  Trade between provinces (C) didl & §9 AWK
(D) Both(B)and(C) (D) 3 (B) &R (C)
2. In trade, transportation costs affects : 2. U ﬁ, gRae AR S Sl & ¢
(A) Pattern of trade (A) UR & Y=t
(B)  Global supply chain (B) Afka® BﬂEﬁ EiCK|
(C) Boundaries between tradable (C) &NR aFg iR IR-amuies
and non-tradable goods El'{ﬁaﬁ 3 g P GE
(D)  All ofthe above (D) SYUET T
3. The main promoter of trade 3. AR IITAHIOT &l RASH yad®
liberalization was : qr -
(A)  GATT A) e
(B) NAFTA (B) AT
(C) CEPTA (C) ®w
(D) CISA (D) HiemETEy
4. The WTO was established to 4. g SR WeT @ WO 3699 AR
implement the final Act of Uruguay T & stfm erfafeaw @t L B
Round Agreement of : & fo@ TI"% o :
(A) MFA (A) TWWUT
(B) GAIT B) ¥
(C) TRIPS © f=
(D) UNO (D) oA
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The........ company produces, markets,
invests and operates across the

world.

(A) Global

(B) International
(C)  Transnational
(D)  Multinational

Select examples of Indian

Multinational Company :
(A)  Hindustan Unilever
(B)  Videocon

(C) Cargill

(D) Tesco

......... is the payment method most
often used in International trade which
offers the experter best assurance of
being paid for the products sold

internationally.

(A) Billoflading
(B)  Letter of credit
(C)  Openaccount
(D)  Drafts

Which is not an Indian Multinational
Company ?

(A)  Unilever

(B)  Asian Paints
(C) Piramal

(D)  Wipro
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9. . is the application of knowledge 9.
which redefines the boundaries of

global business.

(A)  Cultural values

(B)  Society

(C)  Technology

(D)  Economy

10. The Theory of Relative Factor 10.

Endowments is given by :

(A)  DavidRicardo

(B)  Adam Smith

(C) F.W.Taussig

(D)  Ohlin and Heckscher

11.  According to this theory, the holdings  11.

of'a country's treasure primarily in the

form of gold constituted its wealth :

(A)  Gold Theory

(B)  Ricardo Theory

(C) Mercantilism

(D)  Heckscher Theory

10002-A/55 (5)

H TRl B R ¥ uRsNG e
2l

(A) IR T
(B) HH&

(©) A
(D)  oTefegaeen

g HRH SoEEl B UG [Bas
BRI R mr B ?

(A) 2fas R@Er
(B) UsH RWy
(C) UH.S=. AT

(D) el &R ERR

59 R & AR, Rl 39 & TSN

%I SIq g w9 § 69 B &9 F el B,
I8 IqH T Bkl ©
(A) s &l
(B) Rt @l
(C) IR
(D) ¥R faar
[PT.O.]



12.  Which is the right sequence of stages
of Internationalization ?

(A) Domestic, Transnational,
Global, International,
Multinational

(B) Domestic, International,
Multinational, Global,
Transnational

(C) Domestic, Multinational,
International, Transnational,
Global

(D) Domestic, International,
Transnational, Multinational,
Global

13.  IBRD (International Bank for

Reconstruction and Development)

also known as :

(A) EximBank

(B)  World Bank

(C) International Monetary Fund

(D) International Bank

14.  Which of the following is not amongst

India's major import items ?

(A)  Ayurvedic medicines

(B) Oil and Petroleum products

(C)  Pearls and precious stones

(D)  Machinery

10002-A/55
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15. Which one of the following modes of 15,
entry brings the firm closer to
International markets ?

(A) Licensing

(B)  Franchising

(C)  Contract manufacturing
(D)  Joint venture

16.  Which ofthe following modes of entry  16.
in trade requires higher level of risk ?
(A) Licensing
(B)  Franchising
(C)  Contract Manufacturing
(D)  Joint Venture

17. When two or more firms come 17.
together to create a new business entity
that is legally separate and distinct
from its parents, it is known as :

(A) Licensing

(B)  Franchising

(C)  Joint Venture

(D)  Contract Manufacturing
10002-A/55 (7)
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18.  In which of the following modes of
entry in trade, does the domestic
manufacturer give the right to use
intellectual property such as patent and
trademark to a manufacturer in a
foreign country for a fee ?

(A) Licensing

(B)  Contract manufacturing
(C)  Joint venture

(D) None of these

19.  Which one of the following is not an
advantage of International trade ?

(A)  Import of defence material

(B) Dependence on foreign
countries

(C)  Export of surplus production

(D) Availability of cheap raw
material

20.  Intrade policies.......... limits specified
the number of goods to be imported at
one tariff rate.

(A)  Specific Tariff

(B)  Import Tariff

(C©)  Quota

(D) Both(A)and (B)
10002-A/55
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21.  We can trade between two countries  21.
and this trade is very helpful if the cost
ratio of goods are :
(A) Decreasing
(B)  Undetermined
(C) Different
(D) Equal
22.  International trade contributes to  22.
increase ......... of'the world.
(A)  Population
(B) Inflation
(C)  Economy
(D)  Trade barriers
23, ... refers to the tax imposed on  23.
imports.
(A)  Imported tax
(B)  Tariffs
(C)  Subsidies
(D)  Import Quotas
24, is the oldest International Trade ~ 24.
theory.
(A)  Country similarity theory
(B) Theory of absolute cost
advantage
(C)  Product life cycle theory
(D)  Mercantilism theory
10002-A/55 (9)
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25.  International trade and domestic trade  25.
differ because of :
(A) Different government policies
(B)  Immobility of factors
(C)  Trade restrictions
(D)  All ofthe above
26. When did the World Trade 26.
Organisation came into effect ?
(A) March 6, 1996
(B) April 8, 1994
(C) February 5, 1994
(D) January 1, 1995
27. Howmany members are presentinthe  27.
WTO?
(A) 207
(B) 195
(C) 160
(D) 164
28.  Where is the headquarters of WTO  28.
located ?
(A) Austria
(B)  Geneva
(C)  New York
(D)  Washington DC
10002-A/55 (10)
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29.  Among the following options, which
one is not the main objective of WTO?
(A) Toresolve trade disputes
(B)  Tomaintain peace
(C) To improve the standard of
living of people of member
countries
(D)  Toenlarge product and trade of
goods
30. TRIPs (Trade related aspects of
Intellectual Property Rights) is
administered by :
(A)  World Bank
(B)  United Nations Organisation
(C)  World Trade Organisation
(D)  United Nations Conference on
Trade and Development
31, is the precursor of WTO.
(A) NAFTA
(B) GAIT
(C) SAARC
(D) EU
32, countries were members of
WTO as on 1st January, 1995.
(A) 151
(B) 164
(C) 104
(D) 139
10002-A/55
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33.  The World Trade Organisation (WTO)
was established to implement the Final
Actof......... round agreement of GATT.
(A)  Torquay
(B)  Uruguay
(C) Geneva
(D) Tokyo

34.  The United Nations Conference on
Trade and Development was
established in :

(A) 1964
(B) 1967
(C) 1969
(D) 1962

35.  The principal organ of the United
Nations General Assembly which
deals with the trade, development and
investment issues is :

(A) UNCTAD

(B)  European Union
(C) 1IBRD

(D) ICSID

36.  First Conference of 'UNCTAD' was
held at :

(A)  Netherlands

(B) London

(C) Tokyo

(D)  Geneva
10002-A/55
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37. The headquarters of UNCTAD is 37.
located at :
(A) Netherlands
(B) London
(C) Geneva
(D) Tokyo
38, means selling the productsata ~ 38.
price less than on going price in the
market.
(A)  Quota
(B)  Tariff
(C)  Subsidy
(D)  Dumping
39 was established by a multilateral ~ 39-
treaty of 23 countries in 1947.
(A) WTO
(B) UN
(©) GAIT
(D) NAFTA
40.  InInternational trade, IMF stands for:  40.
(A) International Monetary Fund
(B) International Money Fund
(C) International Market Fund
(D) International Monetary Firm
10002-A/55 (13)
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41.  Which Article of GATT provides for  41.
principle of Most-Favoured Nation
Treatment ?

(A) Articlel
(B) Articlell
(C) ArticleV
(D) ArticleIV

42.  Article XVII of GATT defines : 42.
(A) National Treatment
(B)  Quotas
(C)  Anti-Dumping
(D)  State Trading Enterprises

43.  Article VI of GATT covers : 43.
(A)  Anti-Dumping
(B)  Countervailing Duties
(C)  Subsidies
(D) Both(A)and (B)

44.  Which of the following is a mode of ~ 44-
dispute settlement in International
trade ?

(A)  Good Offices
(B)  Conciliation
(C) Panel
(D) Allofthe above
10002-A/55 (14)
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45.  Whatare the three key components of

the WTO ?

(A) A Senate, a judiciary and a
directorate

(B)  ATrade Commission, a dispute
Settlement Body and a Council
of Ministers

(C) An Executive apparatus, a
Legislative apparatus and an
enforcement apparatus

(D) A Board of Governors, the

Assembly of members states

and a steering committee

46. What are the two main functions of the

WTO?

(A)

(B)

©)
(D)

10002-A/55

The promotion of free trade

and economic liberalisation

The administration of WTO

agreements and trade councils
The promotion of world peace

The administration of the
WTO's institutional framework
and the

economic

promotion of
co-operation

amongst its members
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47.  The Agreement on the implementation
of Sanitary and Phytosanitary
Measures (S.P.S. Agreement) by
World Trade Organisation at 1 January,
1995, it 1s related to execute of
following :

(A) Food safety and animal and
plant health regulations

(B)  Animal safety

(C) Implementation of Sanitization
measures

(D)  Food safety only

48. Agreement on the Application of
Sanitary and Phytosanitary Measures
is related to which among the
following organisations ?

(A) WTO

(B) TRIPS

(C) TRIMS

(D) IMF

49.  Nations conduct International trade
because :

(A) Some nations prefer to
produce one thing while others
produce other things

(B) Resources are not equally
distributed among all trading
nations

(C)  Trade enhances opportunities
to accumulate profits

(D) Interest rates are not identical
in all trading nations

10002-A/55
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50. A vertical foreign direct investment

(FDI)is :

(A) Breaking up the production
chain and parts being
transferred to the affiliated
location

(B) Mainly driven by production
cost differences between
countries

(C) Both(A)and (B)

(D)  None ofthe above

51.  Which ofthe following is not a benefit
of International trade ?

(A) High wage levels for all
domestic workers

(B) Lower domestic prices

(C)  Development of more efficient
methods and new products

(D) A greater range of consumption
choices

52. A horizontal foreign direct investment

(FDI) 1s :

(A) Starting a similar production
process (by the parent firm)
elsewhere in the world

(B)  Locating a production near a
firm's large customer base

(C) Both(A)and(B)

(D)  None ofthe above

10002-A/55
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53. What determines the pattern of 53.
specialization and trade in industry
with external economies of scale ?
(A)  Product differentiation
(B)  Monopolistic competition
(C) Historical contingency
(D) None ofthe above
54. BOP stands for: 54.
(A) BankofPayments
(B)  Barrier of Payments
(C) Bill of Payments
(D) Balance of Payments
55.  The .......... is composed of capital  55.
account and current account.
(A) Bill of Credit
(B)  Barrier of Payments
(C) Bill of Payments
(D) Balance of Payments
56. e happens when exports are more ~ 56.
than imports.
(A)  Trade barrier
(B)  Trade deficit
(C) Tradesurplus
(D)  Trade contract
10002-A/55 (18)
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57. happens when imports are more
than exports.
(A)  Trade barrier
(B)  Trade deficit
(C)  Trade surplus
(D)  Trade contract

58.  Which one of the following policy is

about exports and imports ?

(A)
(B)
©)
(D)

Fiscal Policy
Monetary Policy
Commercial Policy

Both (A) and (B)

59. The OECD stands for :

(A)

(B)

©)

(D)

10002-A/55

Organization for Economic
Co-operation and
Development

Organisation for Economic

Co-ordination and
Development
Organisation for

Environmental Co-operation
and Development

Organisation for
Environmental Control and

Development
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60. ... 1s the first step in the
internationalization process.
(A) License
(B)  Foreign Investment
(C) Sales
(D)  Export
61. International Capital Market :
(A) limits available set of lending
opportunities
(B) increases overall portfolio risk
for investors
(C) allowsinvestors to reduce risk
by holding international
securities whose price move
independently
(D) 1s easily accessible to
everyone
62.  Global bond market consists of all
bonds sold or issued by companies,
government or other firms :
(A)  Within their own countries
(B)  Outside their own countries
(C)  ToLondonbanks
(D) Todeveloping nations only
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63. It helps countries to meet deficit in  63.
balance of payments :
(A) IMF
(B) WTO
(C)  World Bank
(D) UNO
64.  Asourceof supply of foreign exchange  64.
1S :
(A)  Imports
(B)  Exports
(C)  Donations
(D) Gifts
65.  Theresponsibility of administration of  65.
FEMA is vested with :
(A) RBI
(B)  National Banks
(C)  State Governments
(D)  Central Government
66. Who determines foreign exchange  ©66.
rates in India ?
(A) RBI
(B) SEBI
(C)  Finance Ministry of India
(D) Market forces of demand and
supply
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67. Whoregulates foreign trade inIndia?  67.
(A) SEBI
(B) RBI
(C) DGFT
(D) FEDAI
68.  Tax on imports can be treated as :
(A) Foreign trade
(B) Collateral trade
(C)  Trade barriers
(D)  Terms of trade
69.  Which one of the following marine  69.
cargo policy is not assignable ?
(A)  Marine cargo specific policy
(B)  Certificate issued under open
cover
(C) Certificate issued made open
policy
(D)  Annual policy
70.  CIF contract means :
(A)  Co-insurance form
(B)  Costinput freight
(C)  Costinsurance freight
(D)  Costincidental freight
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71.  FAS stands for:
(A)  Free after shipment
(B)  Freealongside ship
(C)  Free after boarding
(D)  Freightand shipping
72.  Which of the following kinds of
International contracts includes
insurance as well ?
(A) FAS
(B) FAB
(C) CFR
(D) CIF
73.  The incoterms that indicates that the
consignor (shipper) pays all charges
until the time the cargo arrives at the
premises of the consignee is :
(A) FOB
(B) FAS
(C) FIO
(D) CIF
74.  The IMO Convention that covers the
legal aspects of Bill of Lading is called
the :
(A) Bill of Lading Convention
(B) Bill of Lading Code
(C) Carriage of Goods by Sea
Convention
(D)  SeaTransport Convention
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75.  Anagreement on Technical Barriers to
Trade was negotiated in (1979 TBT
Agreement or Standards Code) :

(A)  Uruguay Round
(B)  GenevaRound
(C) Kennedy Round
(D)  TokyoRound

76.  Which of the following is an extra
charge under a marine cargo policy ?
(A)  Reconditioning cost incurred

at an intermediary port
(B)  Salvage charges
(C)  Sueand labour charges
(D)  Port charges

77.  Overseas transit policy comes to an
end :

(A)  30days after landing at the port
(B) 45 days after landing at the port
(C)  60days after landing at the port
(D)  90days after landing at the port

78.  Inmarine insurance parlance 'average'
means :

(A)  Premium

(B) Cost

(C)  Freight

(D) Loss
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79.  In Overseas Transit Claim, the proof  79. faesht i'lﬁl?f G| ‘::T, e @

of shipment is : T

(A) Billof Lading (A) o oife Qfs

(B) Bill of Exchange (B) fma &1 o«

(C)  Bill of Treasury (C) o9 1 [«

(D)  None of the above (D) S | | Fig &
80. In marine hull policy, the subject  80. Eﬂf{ g diferel! #, s @ fog ﬁw—er{g

matter for insurance is : T

(A)  Hulland machinery (A) & IR A

(B)  Freight and disbursement (B) A 'g'%Fﬂ'si AR wfaeer

(C)  Premium reducing (C) WiHaq FH w0

(D)  All ofthe above (D) SYUFT T

81. A marine insurance is a contract of : 8l. |HA €M1 TH ITITY L

(A)  Increment (A) 09 IRE @&
(B)  Indemnity (B) &N & gum @
(C) Maturity (C)  YRUFAT
(D) None of the above (D) S ¥ q BE Tl
82. oo offers the exporter the greater ~ 82.  .......... Frafde & gem # ot 4
level of safety. 31feeh &R YN I Bl
(A) Cashinadvance (A) ST Tehat
(B)  Letter of credit (B) u@ W
(C)  Wire transfer (C) dR ®FE
(D) UPI (D) F & e
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83.  Market in which currencies buy and
sell and their prices settle on is called
the :

(A) International bond market
(B) International capital market
(C)  Foreign exchange market
(D)  Eurocurrency market

84. is the nodal department for
formation of the policy on foreign
direct investment (FDI).

(A) RBI

(B) NABARD

(C) Department for promotion of
Industry and Internal trade

(D) SEBI

85.  FDlI stands for:

(A)  Foreign Direct Investment

(B)  Foreign Development Index

(C) Federal Department of
Investment

(D) Federal Department of
Investigation

86.  What is the permissible limit for FDI
in retail through unrestricted routes in
India ?

(A)  49%
B) 50%
©) 75%
(D) 100%
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87. e maintains the foreign exchange
reserves in India.
(A) State Bank of India
(B)  Reserve Bank of India
(C)  Finance Ministry of India
(D)  EximBank

88.  More expansion of foreign direct
investment can boost :
(A)  Money circulation
(B) Demand
(C)  Employment
(D)  Unemployment

89.  When a firm undertakes Foreign
Direct Investment it becomes :
(A) A Multinational Enterprise

(MNE)

(B)  ATransnational Corporation
(C)  AnInternational Company
(D) More diverse

90. The funds based outside India and
authorised by SEBI to invest in Indian
equity market through the stock
exchange are called :
(A) Non-Resident Funds
(B)  Overseas Corporate Bodies
(C)  Foreign Institutional Investors
(D) None ofthe above
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91.  Whatdoes 'P' denote in FDI ?
(A)  Periodic
(B) Potential
(C)  Productive
(D) Portfolio
92.  Whenthe FDI is allowed without prior
approval by Government or Reserve
Bank of India, it is known as :
(A)  Automatic Route
(B) Involuntary Route
(C) Reflex Route
(D) Non-approval Route
93.  The flow of FDI refers to :
(A)  The amount of FDI undertaken
over a given time period
(B)  The total accumulated value of
foreign owned assets at a given
time
(C) The flow of FDI out of a
country
(D)  The flow of FDI into a country
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94. The foreign direct investment
includes :
(A) Intellectual Properties
(B)  Human Resources
(C)  Tangible Goods
(D) Intangible Goods
95.  The treaty of Rome ws signed in the
year :
(A) 1959 (B) 1957
(C) 1956 (D) 1955
96.  What is it called when a country is
specialized in a particular goods and
then it trades the goods with other
countries ?
(A) Agreement
(B) Interdependence
(C)  Correlation
(D) Dependence
97.  Anti-dumping duties applied to
imported goods :
(A) areabolished by the WTO
(B) result in decreases in
consumer surplus for domestic
households
(C) are imposed by industrial
countries but not developing
countries
(D)  result in lower priced goods
for domestic consumers
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98.  When one country provides most
favoured nation status (normal trade
relations) for another, it agrees to :
(A) charge the nation's products a
lower tariff than any other
nation

(B) charge that nation's products a
tariff rate no higher than that
on any other nation

(C) charge that nation's products
very high tariff

(D) exports to the nation any
products that it wants to
purchase

99.  The effect of most favoured nation
clause is to :

(A) Eliminate all tariffs between
countries

(B) Increase all tariffs between
countries

(C)  maintain a non-discriminatory
structure of tariffs

(D) maintain a discriminatory
structure of tariffs

100. Full form of TRIMS is :

(A) Trade related Investment
measures

(B) Trade related Investment
mechanism

(C) Trade regulation and
Investment mechanism

(D) None ofthe above
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Example :

Question :

Q1 ® @ © ©
Q2 ® ® @ ©

Q3 ® @ © ©

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,

pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

10.

11.
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